
 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 

 

1 

CF56 
KTM 1050 

  
          

Kit for the left side  Kit for the right 

 ID Description Cat.no. pcs  ID Description Cat.no. pcs 

 1 Steel support X63 1  - - - - 

 2 Dural stirrup X80 2  2 Dural stirrup X80 2 

 3 Threaded dural stirrup X81 2  3 Threaded dural stirrup X81 2 

 4 Imbus M8x50mm  837 4  4 Imbus M8x50mm  837 4 

 5 Washer M8 802 4  5 Washer M8 802 4 

 6 Washer M10 804 2  6 Washer M10 804 2  

7 Bolt M10x20mm 819 1  7 Bolt M10x20mm 819 1  

8 Washer M6 947 2  8 Washer M6 947 2  

9 Nut (safety) M6 948 2  9 - - -  

10 Imbus M6x20mm 875 1  - - - -  

11 Imbus M6x25mm 874 1  - - - -  

12 Dural spacer DV-106 1  12 Dural spacer DV-106 1  

13 Bolt M10x80mm 852 1  13 Bolt M10x80mm 852 1  

14 3M tape  1  14 3M tape  1  

 

 

ID1+ID10+ID8+ID9 

ID2+ID3+ID4+ID5 

ID6+ID7 

ID11+ID8+ID9 

ID12+ID13+ID6 



 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 

 

2 

 

 

 


